BSEH MARKING SCHEME

CLASS- X SCIENCE (March-2024) Code: A

Ih-Aee & T 7 swR-fawg sifaw adt & T gomarcAs w@
Finfas g1 I demeft & g o=y, feg sagFa 3w R
Y 39 39gFd 3w T amd|

The answer points given in the marking scheme are not
final. These are suggestive and indicative. If the examinee
has given different, but appropriate answers, then he should

be given appropriate marks.

Q. Answers Marks
No.
1. |b) afaafee

Cataract 1
2. |d) gefr g3t o Fa= giar @

is the same at all points 1
3. | fheltare ger (kW h)

kilowatt hour (kW h) 1
4.

1 1
5. |d) A 38T § W R &7 B

A is false but R is true. 1
6. | (i) TTelh Fr oeTs

(ii) TTTh & YT FIC & &Il
(iii) Terd &1 Jpfad W

1
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(S 2T, TAF F 1 3ih)
(i) the length of the wire
(i) the area of the transverse cut (cross section) of
the conductor,
(iii) the nature of the substance.

(any two, 1 mark each)

Or
(a) 9Taehd H FANMSId T3 3YROT dlecsl & fasard
oTEl 8l & HRUT FAE & § SR F &
(b) UTRdshA H TAITSId 390l & & fhdl T & TE
gl T TEufd A off 37 3UROT FAAAT § Fh Hd
w®d &l
(c) UTedshd H TASId THT 3TON & fIT 31eldT 37erer
fEaT oemar S A1 § Arfeh 3TaRIHhdTaR fhar @
#Y 37T a1 3% fhar S Tkl
(d) Tegd IRUY #T FoT Jod TR qedshd TSI
T8l 3UHOT o GIoRIEr & T @ A g &, 3 faegd
3YSUN I 91edshA H AT el W fastell $r @ud
HH g e gl

(IS ST, AH H 1 3h)
(a) Potential difference does not divide among the
appliances; thus all electric appliances get equal

voltage and work better.

Science
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(b) The other devices continue to work efficiently
even in the event of a malfunction of one of the
devices connected in the parallel order.

(c) Separate switch can be attached with each of the
electrical appliances so that anyone can be switched
off as per requirement keeping other operating.

(d) The total effective resistance of the circuit
becomes lower than the resistance of appliances.

(Any two, 1 mark each)

7. | Tgr fear I § f=—4m
o9 f &TAEAT, P=1/f
(1 37)
~P=1/4m=-0.25D
(3R F V2 37h, SHIS H V2 3ih)
Given, focal length (f) = 4m
We know that power of a lens (P) = 1/f 2
(1 mark)
Or, P = 1/4m = 0.25 Dioptre
(Y2 mark for answer, %2 mark for unit)
8. | (i) e &g Uur & &% 3R IWT AT gl STHT 37T §
& gdor W [T & gerer 918 3R & 3mafdd g g
(i) FACT 38T & A H gRAT adu1 & ¢@ & AR
ST g
(i) 7T foig & &% AR (+ x-3787 & 3fyfeer) A a5
aslt gRAT erereAs Al STl &

3
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(iv) Stefeh 7T fdg & a5 3R (- x-376T & 3iefeen) A

IS GRAT HOTcHS AT STl 2|

(v) #&T 3787 & ddad dUr IW Hi AR (+ y-376T &

37gieRn) AT STl aTell gRAT eellcH A=l STl 2|

(vi) AT 36T & ofddd AT o 7 AR (- y-378T &

37egferer) AT S dTell gRAT HOMcHS AT STl &
(IAh HT V2 37h)

(i) The object is always placed to the left of the

mirror. This implies that the light from the object falls

on the mirror from the left-hand side.

(i) All distances parallel to the principal axis are

measured from the pole of the mirror.

(iii) All the distances measured to the right of the

origin (along + x-axis) are taken as positive.

(iv) All the distances measured to the measured to

the left of the origin (along - x-axis) are taken as

negative.

(v) Distances measured perpendicular to and above

the principal axis (along + y-axis) are taken as

positive.

(vi) Distances measured perpendicular to and below

the principal axis (along -y-axis) are taken as

negative.

(2 marks each)
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9.
geTeft Ufyrat
HTT 5
3

Ciliary muscles

Crystalline lens

Aqueous

humour \"A

Pupil —“——P

Retina

Irls—Y' \,/

Cornea———»

Vitreous humour

GRa 3@ - 1 37F) (P IR ATHDT; TS HT %

37%)

Optic nerve

Proper diagram 1 mark) (Any four labelling %
(Prop g ) (Any g

marks each)

10. | (i) &fa1oT g% 3o foraa

(1 37)

ciaror - g&d 3 e Fgar § f& Ifq g 3
alfgel 819 # fdegd URTEET aTeieh I 38 YR Tehs foh
39er faggd amr i fGer f AR FHA W g, A

5
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Saforat e & AR AT T A T 8 Yt &
feem A forgdr ghem|
(1%2 37e)
(i) TFeIfHIT T aFgEd faH
(1 371)
ST SR g d dolell, ALTAT IUT IS H 3H IR
e ST § 76 et TR g@ & oFeed @, a9 afg
oot raehr & T faem iR Feger e 7 varfRa
Riege O #1 3 T A & A T Ao A
T G2 3rYar dreleh W HRIUT g1 i faor $r 3R
Hehd |
(1%2 37e)
(i) Right hand thumb rule
(1 mark)
which states that that if one holds a straight current
carrying conductor with right hand such that the
thumb points towards the direction of current, then
fingers will wrap around the conductor in the direction
of field lines of the magnetic field.
(1%2 mark)
(i) Fleming's Left Hand Rule,
(1 mark)

which states that if the first finger points in the

direction of magnetic field and second finger in the

Science
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direction of current, then the thumb will point in the
direction of motion or the force acting on the
conductor.
(1%2 mark)
Or
YRT & STl dlel JAehR o & Yedeh fog W g8 art
3R gehra & &1 gfafafica w arer d@Hfed ga a3
3R 93 g1 oI & i g7 dR @ ¥ I S g
(1 37)
AT ¥ g F T Wel W@ & 7T F RS e ¥
(1 37)

(1 3i)
Ife n A1 dlell Teh AR F3 &, ol Scarfed &F Tehel
HIS @RI 3cdTied &9 & n T a7 gial g

UHT SEfAT BT & Fifeh Yodeh gl AlS H RT &hr

feem AT g g
(1 3i)

IR A & FROT 3carfied &F dedr JATar gl
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(1 31)

At every point of the current carrying circular loop
the concentric circles representing the magnetic field
around it become larger and larger as we move away

from the wire.

(1 mark)
At the centre of the loop the field appears as
straight line

(1 mark)

(1 mark)

If there is a circular coil having n turns, the field
produced is n times as large as that produced by a
single turn.
It happens because the current in each circular turn
has same direction.

(1 mark)
and the field due to turn just adds up.

(1 mark)

Science
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11. | b) To=Tr & §3T e 1
Quick lime
12. | ¢) 3ra&igor 1
Precipitation
13. | eIERep 3T 1
Tartaric acid
14. | =ér 1
Silver
15. |a) A @ R il T & d9T R, A & HgI <T@t gl 1
Both A . and R are true, and R is the correct
explanation of A.
16. | S &Y dcd & WRATUBN T FE&Ar IR &1 a5 3R 2T
aré 3R TAT Qe & A G A Ffere aaeror
el STl &l
(1 3i)
Teh HJfIT FHIRIUT GeTATT & TIETOT & fAIH hr
Tefel el & 2
(1 3)
A reaction where atoms of each elements present on
left- and right-hand side are equal is called as
balanced chemical equation.
(1 mark)
To satisfy the law of conservation of mass, the
chemical reaction should be balanced.
(1 mark)
9
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17.

SSCAdH Hodelodd dlHAldd

(1 37)
3T 3SHT Al
(1 371)
optimum ignition temperature
(1 mark)
high calorific value. 2
(1 mark)
18. | UTq & WY e AT TATRIT 3HFT HiT dehd W AR | 3
LT &
(1 37)
gISSiFellNeh 315l & ®7 H Teh Holgd 315l &
(V2 37)
Ig YT & AT FRGR FAfHAT IM R Jegeree &
TTY gISalolel I 3ceol M|
(V2 3i)
et vfAfes 3+ e g HHST 3F &
(Y2 3i)
UTd & ATY YARIT i & AT @ 3R 4R-eR
gI83IeteT 3 &arm|
(Y2 3i)
The reaction of the acid with the metal depends on
the strength of the acid.
10
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(1 mark)
As hydrochloric acid is a strong acid.

(Y2 mark)
it will give reaction with metal vigorously and evolve
hydrogen gas with fizzing sound,

(Y2 mark)
while acetic acid is a very weak acid

(Y2 mark)
it will take time to react with the metal and slowly

give hydrogen gas.

(Y2 mark)
19. | (i) 3
(1 37R)
(ii)
(1 3)
(iii)
11
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(1 31)

Or
(i) sTHTTAYT Bromoethane

(1 3)
(i) 99T Propanone

(1 3)
(iii) Tt Ethanal

(1 3)

20.

SIS U131 T agHSS & H9S H @ ST § dr agHsS
#; 3T AT qUr FAT B IUTEIT § urg g
ST glel ol@Tc gl 37 UfhaT &l HERUT gd &l

(1 3)
3CIEUT: oilg UX ST 91T, IIdT Sl hTell USaAT, dis ol

Tde I &Y WM HT W & FoIaTl
(1S &Y, Uk FT 1 3i)

TEIROT & & e &lah, dol o@met, WS ey,
TACATA (g T T W FEd A WA e,
HITATH T, UASIROT, TANUTT SRyl ST Fehll
gl
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(IS IR, TAF FT % 3ih)

When metals are kept in contact with the
atmosphere, the metal gradually starts to damage
due to the presence of gases and moisture present
in the atmosphere. This process is called corrosion.

(1 mark)
example: Corrosion on iron, Silver blackening,
Formation of a green layer on the surface of copper

(Any two, 1 mark each)

Corrosion can be prevented by painting, applying
oil, grease, Galvanization (by coating iron objects with

zinc), chromium coating, anodization, alloying.
(Any four, 2 mark each)

Or

UId & 37U H Felacied & TAGCROT & Fo Jifarent
dega wdere At wer ST gl

(1 3)
(i) $ifde upfa— &e Td KU1 AT & & Aol
THYUT §of & HRUT JAfAw e 3 ta 913 FoR
8id 81 I Aiffeh AT $9Y gl § YT &1 STefel W)
gehsl A ge Sd €l
(i) ITeleTih T FaUsTioh — AT il FI ITelelioh
Ug FIUATHR agd HTSH gl &, Fifh Holgd 3HcR-

Science
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iR RYOT F s & AT Feir HT gAicd AT &
HGIHAT gl gl

(i) EreroTefiorei— deg Fieteh AMfaeh AATT: STl &
gefegelier T fhfaa, derer 3nfe S faemget & sifaea
gl &

(iv) faegd arehdr- e faeaeT & faegd & are &
forw 3mafra sott $r aifaierar 3mas gidr g1 3mafas
At F ST e F 3 39y 8a &1 59
fqeraeT # fagga unr varigd T Sl § dr J§ 3
faTlieT solerels & 3R ITHA Fel ol § T A
TTelel Xd &l

(Icdh & 1 31h)
The compounds formed by the transfer of electrons
from a metal to a non-metal are known an

electrovalent compounds.
(1 mark)

(i) Physical nature: lonic compounds are solids and
are somewhat hard because of the strong force of
attraction between the positive and negative ions.
These compounds are generally brittle and break into

pieces when pressure is applied.

(i) Melting and Boiling points: lonic compounds have

high melting and boiling points. This is because a

Science
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considerable amount of energy is required to break

the strong inter-ionic attraction.

(iii) Solubility: Electrovalent compounds are generally
soluble in water and insoluble in solvents such as

kerosene, petrol, etc.

(iv) Conduction of Electricity: The conduction of
electricity through a solution involves the movement
of charged particles. A solution of an ionic compound
in water contains ions, which move to the opposite
electrodes when electricity is passed through the

solution and conduct electricity.

(1 Mark each)

21. | ¢) IfAFT geT 1
Cytoplasm
22. | a) uleaf@e 31Fd 1
Abscisic Acid
23. | dieT
Three 1
24. | T AWl # Teh IaEAT H @Y IaEAT H JaA Hld
U TN AT Alegal H G F Afasw mada ded | 1
gl
15
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Biological magnification is the increase in the
concentration of chemicals in the food chain from

one level to another.

25.

a) Ad R QA G § dUT R, A &I &gY <a1@r gl

Both A and R are true, and R is the correct

explanation of A.

26.

A A ¥ 3R Afgem ATT-AAT F1 FAlT RIS
ITETel Jedeh ATAT-TAAT & IO 1 TATT FARTAT SR
giAfRad fohar e &

(Y2 mark)
HITd H IORGAT & 23 S5 81 ¢, [oeH & 22 S8 feter
g & 3R 1 S e o @ &

(Y2 mark)
FIAF oA HUGAIST H ufkar & N T®
giAfRad s ¢ f 39O gorAs &7 3cures g &l.

(Y2 mark)

Teh 379101l QEHTU] Teh IO JadHeTol T ScdlGel il
& fIT T IE0IT 39 & AT Foldad AT &1 JIAA
U ATC-TOdT & TA AGT H IR el gred
Wl § I 30 9eR, e W Ao yefa #

SR QT ¢l

(Y2 mark)

Science
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Equal genetic contribution of male and female
parents in the progeny is ensured by the equal
inheritance of chromosome from each parent.

(Y2 mark)
Human possesses 23 pairs of chromosomes, of
which 22 pairs are autosomes and 1 pair is the sex
chromosomes.

(Y2 mark)
During the process of gamete formation meiosis
ensure haploid gametes are produced.

(Y2 mark)
A haploid sperm fuses with a haploid ovum to
produce a diploid zygote. Zygote receives equal
amount of genetic material from each parent and
thus, retains the diploid nature on fertilization.

(Y2 mark)

Or
JYIN HAST o
(1 37)
HAX & GiYl W 3o 37ETTT & AreIHA § foad &
A Teerdl @ 39ER fehar|
(1 37)

Gregor Mendel

(1 mark)

Science
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uncovered the fundamentals of inheritance through
his studies on pea plants.
(1 mark)

27.

1. AT WU H O, 3c91g & &I H dUT CO, 2qdA
frar & YT ganrT AswhIfaa v S 2

2. 9l AR STel @ arsUlcHoleT f5hal EaRT BN

a1 Hhd gl

3. gt & Al aftar ag-gag 9X 37e@T il &l
g, ToITH 379ise 3cure diad Ed &l

4. 9IUl H 3T HURASC 3cuig ISl dum 9l & &9

H OV &7 @ Wl S H AT B &

5. 9leq $© UMRISe gerdfl &l 39a I dr Fer A
IcdToTd & gl

6. FgT  UGT HURAST I HrREHT RiFaawr &

wRe & & 2
(P TR, Tcdh H ¥ 3i)

1. O, as a product in photosynthesis and CO, in

respiration are expelled through stomata.

2. Plants can get rid of excess water by

transpiration.

3. In plants, dormant leaves are shed from time to

time, in which waste products accumulate.

4. In plants, other waste products are stored in the

form of resins and gums, especially in the old

xylem.
18
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5. Plants excrete some waste materials into the soil
around them.
6. Many plant waste products are stored in cell

vacuoles.

(Any four, 2 mark each)

28.

Hfraged AT
(1 31)

(i) T&T Fr gsHa d¢ ATl &l

(ii) 9TeeT IF U7 cadr H FO Hr YT HA g S
gl

(iii) ST I o= gAY Serer ARAAT T 3 T T B
(iv) 298 X ¢ SIrdr g

(I FT Y2 3h)
Adrenal Gland 3
(1 mark)
(i) the heart beats faster.
(i) The blood to the digestive system and skin is
reduced.
(i) This diverts the blood to our skeletal muscles.
(iv) The breathing rate increases.
(2 mark each)
19
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29.

T Gl sl HIIEY FIE
Gfa 3mM@- 1 3%, FS IR 3RT AT, TS FH
Vs 37%h)

Cross-section of a leaf

Proper diagram 1 mark) (Any four labelling 2
(Prop g ) (Any g

marks each)

Or

Science
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(dividing wall)

Proper diagram 1 mark) (Any four labelling 2
(Prop g ) (Any g

marks each)

30. | (i) fr@sa

TehehlTeh Sitdl H HIRAKT TIHTSTT JUarT @S gan
AT Sal T 3cdf gicl &1 3Teish SfIATo] AT Weli3m
HITAHT TTHISTT GIRT HHIT: &l SR AR H [asrerd
g el 8, S 3reaT|

(i) @S

T AT dlel I PIRNR Sl H SFefor H1 T A
FT HIAT g 3EEI0Td: FATSNIMST HTHTT: fahiad
gl BIC-OIC Tohsl A WIS &1 SIcl g1 TE Ths 31T
S Fef Y AU S (24fte) # fFnfad g ad &l
(iii) GoToesTas (YeToioter)

quisaT fFafea sfat # 3rvar iR smer @ &v Shg &
fAATOT &1 &THar g &1 U IS fRer SR S
&TcT-fa&Td &1 ST § 3YUaT $ gehsl H g Slar § o
38 3Heleh ¢ohs Jefd W AU ofid H fAfdd & od €
3CTEIUTA: @133 dAUT Tl iar

21
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(iv) Hpelsd
81351 S $T G0N Usfoielal T &THAT dlell HITRABIST T
3YANT Aheld & fow HId &1 g3zl A HRAFBT &
afaa s & FRUT T TUH W 3R AT &
ST ¥l I§ 39N (FHel) JefT T g3 dAow i A
dGoT ST § T qUT a9 fad gl Sieleh & 3797 gla
Tadd Sfig &1 ST g
(v) FIE gag
W §gd ¥ Y §, O T AT S o3, o qun
aferal 3uzeq IRTEIfaar A fasfad gl aar dier
3ceol X gl PR ST & AU, Tohel AT 39
&THAT &l YA STeded bl AT & §T H =g &1 TdT,
HeTH YAT AT ST FIfAh Jatiel hl dehsileh ol 3TI1ET
S A & fham STAr &1 e, JAT HYAT IR FHE
$T 3aTXT ¢
(vi) SrsiTo] FHAEE
3elsh Tl §§ HIRAF et 7 ol fafrse S TRa=me
US Sl g1 S ASSOE & FEd agil W gEH O
(FNeT) TAATC STefel H HET ofchl &1 T TS SISAOTe
g, oo a9y AT rar i) aiw S g1 g
fISUgEfs FF TBATH & AT SNd oo A B
SIS] & TR 3R T A AR gl 8, S i
gRfEafadt A 3@ T & g, A7 ddg & U H
3 W TE e A 9T g

(P U9Id, IcAh FI 1 37eh)

22
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(i) Fission

For unicellular organisms, cell division, or fission,
leads to the creation of new individuals. Many
bacteria and protozoa simply split into two equal
halves during cell division such as Amoeba.

(i) Fragmentation

In multi-cellular organisms with relatively simple body
organisation, simple reproductive methods can still
work. Spirogyra, for example, simply breaks up into
smaller pieces upon maturation. These pieces or
fragments grow into new individuals.

(i) Regeneration

Many fully differentiated organisms have the ability to
give rise to new individual organisms from their body
parts. That is, if the individual is somehow cut or
broken up into many pieces, many of these pieces
grow into separate individuals. For example, Hydra
and Planaria.

(iv) Budding

Organisms such as Hydra use regenerative cells for
reproduction in the process of budding. In Hydra, a
bud develops as an outgrowth due to repeated cell
division at one specific site. These buds develop into

tiny individuals and when fully mature, detach from

Science
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the parent body and become new independent
individuals.
(v) Vegetative Propagation
There are many plants in which parts like the root,
stem and leaves develop into new plants under
appropriate conditions. Unlike in most animals, plants
can indeed use such a mode for reproduction. This
property of vegetative propagation is used in methods
such as layering or grafting to grow many plants like
sugarcane, roses, or grapes for agricultural purposes.
(vi) Spore Formation
Even in many simple multi-cellular organisms, specific
reproductive parts can be identified. As on the
hyphae of Rhizopus, tiny blob-on-a-stick structures
are involved in reproduction. The blobs are sporangia,
which contain cells, or spores, that can eventually
develop into new Rhizopus individuals. The spores
are covered by thick walls that protect them until
they come into contact with another moist surface
and can begin to grow.

(Any five, 1 mark each)

Or
TR Uk fafr o d@efa war & o arstaear &t
Uehel o TIT TARIT ST FoheTT ¢
(1 37)

Science
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(i) AR 3TaEr
50 Al # IoAs & Hodel & Havey fhar Sar gl
3eeY0T & fav, ws1d @ RIRA H Thall IO
3SHITAST dah qg’uﬁ d UhdT §l. SHPT HIs AT T3d
Tef & 3R I FaRa W & TIROT FF kT gl

(1 3i)

(i) gTHTT 3rETeleT

giAleTel 3o YT el & faw anferdt &1 3o
THERIgE fOfr & §F & F HT TR g1 Tg I’ &
T B Uhal § 3N PN TE @ T &1 5@
gSIHIT B ¢

(1 3)
(iii) IreTerr Ffercrar
AT SI9 o ofd 3rar HiaR-<r (Copper-T) Y TR
A T b o foham STelm 8, TR TR & 3colet
¥ o To fawid yerrd & Fehdl &

(1 37R)
(iv) UeTTHRAT deheileh
Ife qeY &I Yehdlfgerl3il 1 asey w fear s ar
USPIULHT ST TATATCRUT Teh SITCaTT| Ife, T - 3Sarfgedr
31YAT hellfds] sAfeldhl P HaeeH I GAT AT ar 38
(fEs) arstfieryr o oT6T 9T Fhamm| Al & et A
fASTeT ST g 9TweT| ereTTohAT deheileh GdRT 38 JhRR
& HRY 3cTeel fhT ST TFhd gl ISIT AcT dhellh
sy & fov quia: AT §, W JAEUgas $Hr

Science
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IS AATHAT § FHAUT YT GEI ATV 3ol &l
hell &l
(1 3)

Contraception is a method or device used to prevent
pregnancy.

(1 mark)
(i) Mechanical barrier
In this method fusion of gamete is blocked. For
example, covering the penis with condom prevents
sperms to reach ovum. It has no side effects and
prevents transmission of sexually transmitted
diseases.

(1 Mark)
(i) Hormonal Imbalance
Use of pills to create hormonal imbalance can act as
contraceptive method. It prevents formation of egg
and fertilisation cannot occur. It has side effects.

(1 mark)
(iif) Uterine devices
Devices such as the loop or the copper-T are placed
in the uterus to prevent pregnancy. Again, they can
cause side effects due to irritation of the uterus.

(1 mark)

(iv) Surgical method

Science
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If the vas deferens in the male is blocked, sperm
transfer will be prevented. If the fallopian tube in
the female is blocked, the egg will not be able to
reach the uterus. In both cases fertilisation will not
take place. Surgical methods can be used to create
such blocks. While surgical methods are safe in the
long run, surgery itself can cause infections and
other problems if not performed properly.

(1 mark)

27
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